


Outline

7

s
w

7%
. 7
2 //
G
£

e retation and c

.

C

/4/////1//7//7/ / 0/4///%0///4///4///{// A7) C X XSS XY // Y O
YY1 4/?,//%7// // en e 2OVeNINNCNuwads 110 LONgCl UICiC
UG N a

¢ happened whe

a Conausion




Position on the term «peasantry»
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What was: Historical background
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What was: System of subsidization

%
%,

o
%

///,//’ 2 Y, Z, 4/////// ,/////

__

__ e
//////////////////////////////////////////////////////////////
.

-




Way to Turkey’s agricultural «adjustment>
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How was the adjustment done?
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Findings...
/ ' ) elves

/;




Findings...
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The loss of agri
when presented like this. However the

ount is nearly 4 million hectares, more
than the whole agricultural land of many
countries and around 14% of Turkey itself.

Findings...

The loss is almost completely out of crop-
” producing area.
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Interpretation
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Interpretation
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